            Контрольная   работа  по  английскому  языку  в  8  классе

А1. Reading. Чтение. 

Прочитайте текст. Выполните задания 1-4, обведя букву A, B, или C , которая соответствует правильному варианту ответа. 

The Earl of Sandwich lived long ago in England. He was a fanatic about playing cards. He didn't even want to stop playing long enough to eat meal and refused to put his cards away. So his servant invented a quick and convenient meal for him. He put some meat between two slices of bread, so that the Earl could hold his meal in one hand and play cards with the other. 
Sandwiches were great favourite   in Victorian England. It was a tradition to take tea at about 5 o'clock, and many reach families ate sandwiches at that time. Cucumber sandwiches were very popular. The servants always cut the crusts off the bread, so the sandwiches were very small and delicate. Sandwiches are less elegant now and often much bigger. The American comic strip character Dagwood   Bumstead  is famous for his “Dagwood” sandwiches which have up to ten slices of bread packed with different fillings all one on top of the other. The English eat millions of sandwiches every day. They are a typical “snack” meal because they are easy and quick to prepare. You can buy sandwiches if you don't want to make them yourself. There are thousands of sandwich bars and cafes and even some   restaurants that sell them. 

A1. What kind of meal did the Earl's of Sandwich servant  invent? 
а)  quick and convenient 
 в)  very delicious 
с)  very good for health 
A2. What was one of the great traditions in Victorian England? 
а)  make cucumber sandwiches 
в)  cut the crusts off the bread 
с)  have 5 o'clock tea 
A3. What kind of sandwiches do people have today? 
а)  very elegant 
в)  very big 
с)  much bigger than they used to be 
A4. Why do people like to have sandwiches for their meal? 
а)  Because sandwiches are a typical “snack” meal. 
в)  Because people can do sandwiches themselves. 
с)  Because sandwiches are easy and quick to cook. 

2. Use of English. Лексико-грамматическое упражнение. 
Прочитайте предложение. Выберите верный ответ ( a,b, или c) , чтобы предложение имело правильный грамматический и лексический смысл. 
Правильный ответ обведите. 

A5. A horse has got ____________legs___ . 
a) for b) fore c) four 
A6.Yesterday she ____________ a vase. 
a) breaks b) has broken c) broke 
A7. I _________________ her at school already. 
a) saw b) have seen c) will see 

A8. Usually we ______________ supper at 7 p.m. 
a) are having b) had c) have 
A9. We _____________ juice now. 
a) drink b) are drinking c) drank 
A10. I think the book is ________________ than film. 
a) the most interesting b) more interesting c) interesting 
A11 We usually write with chalk on the ___________ at school. 
a) chair b) curtains c) blackboard 
A12. You shouldn't _____________ a lot of sweets. They are bad for your teeth. 
a) eat b) ate c) eating 

III  Change all phrases in direct speech into reported speech.
Teacher asked: «Do you know the ABC?»
Tom said: « The book is worth reading»
My mother often asks to me « Help your brother.»
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IV.Раскройте скобки, употребляя глаголы в правильном времени. 
The competition _____________ 1 (start) tomorrow. There are lots of participants, so it will be difficult to win. 
He -------- 2(write) three invitations yesterday.                                                                                                                          The party-----------3 (begin) now.                                                                                                                                           I ---------4 (go) to school every day.
